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Calculation headline
) (
Cross section parameters
)[image: ] (
Material parameters
) (
C 30/37
) (
B 500 B
) (
Table of combinations of internal forces
) (
#
My [kNm]
UC
1
235
0.847
2
252
0.908
3
184
0.663
4
71
0.256
5
153
0.552
) (
Extreme is produced by combination: 
2
)
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 (
Check longitudinal reinforcement for extreme combination
)



 (
Check reinforcement areas
) (
 = 
A
sy1
500 mm
2
= 
 > A
s,min 
204 mm
2
) (
 => Reinforcement is sufficient
)[image: ] (
 = 
A
sy1
500 mm
2
= 
 < A
s,max 
6000 mm
2
) (
 => Condition is satisfied
)[image: ]
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 (
Section bearing capacity
) (
Height of compression area
) (
x = 
0.115
) (
Stress in tension reinforcement
) (
 = 
σ
s1
435∙10
6
) (
Stress in compressed reinforcement
) (
 = 
σ
s2
426∙10
6
) (
Check limit height of compression area
) (
ξ
bal,1
=
ε
cu3
ε
cu3
+
ε
yd
=
3.5∙10
-3
3.5∙10
-3
+
2.17∙10
-3
=
0.617 
) (
0.115
0.452
 = 
0.254
 = 
 < ξ
bal,1
0.617
) (
=> Height of compression area is OK
)[image: ] (
Cross section bearing capacity
) (
M
Rd
=
277 kNm
) (
s
=
M
Ed
M
Rd
=
252000
277411
=
0.908 
) (
< 1 => Bearing capacity is SUFFICIENT
)[image: ]
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